3UDFRZQLN 5R]NiDG

=LPDB

SURI 1Z GUKDE /LSLeVNL $0HNVDQGHU 7\J

N N N N

£
8 3UTHGPLRI NIHIXQNRZ\ GR 3UDZR F\ZUQH F]¢Gi 6HPIQDUXP G\SIRPRZH SUTHGPLRI GR Z\ERUX
= Z\ERUX JUXSD % SIRI 1Z RJIYIQD Z SURI 1Z GU SURI ]Z GUKDE /ISIEVNL NIHUXQNRZ\ ~ SIRI 1Z
(O] GUKDE /LSLENL KDE /ISLEVNL $IHNVDQGHU $HNVDQGHI  35% = GUKDE /LSLENL
L $HNVDQGHI  $"0 O 358" = H $HNVDQGHI  35% =
8 - ) RQ (LQH RQ (LQH - )
n 3UDZR EH]SIHFJHEVIZD 3UDZR EH]SIHF]HEVIZD

HQHUJHINFJQHJIR RQ 0.QH HQHUJHINFJQHJIR RQ 0.QH
n
oD
Ee)
> 7\J_
L 3UDZR F\ZIQH F]CGi
2 RIYIQD Z SIRI 1Z GU
N KDE /ISLEVNL $IHNVDQGHU
n 358" =

RQ (LQH

=
™
o
©
a 7N N
£ 3UDZR F\ZUQH F1CGii 3UDZR F\ZUQH F]CGii
= RIYIQD Z SIRI 1Z GU RIYIQD Z SIRI 1Z GU
(O] KDE /ISLEVNL $IHNVDQGHU KDE /ISLEVNL $IHNVDQGHU
g 35% - - 35% - =

RQIQH

RQIQH




